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brood: to ponder morbidly or persistently  [Collins Dictionary] 
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     It is not long since the last issue, but for once we have a deadline, as shown by the 
first problem! In that case it is obvious what gave rise to the composition, but at times 
inspiration can come from unexpected quarters. In the case of 6 it was a re-reading of 
Pascal’s Pensées (“Tout le malheur des hommes vient d’une seule chose, qui est de ne 
savoir pas demeurer en repos…”) and the connection may become obvious to solvers. 
Often however my inspiration is musical, and oblique. I shall not attempt to explain the 
link in my mind between 3 and Jacob Obrecht! Relationships between problems are 
easier to grasp, and the reader may well see what 10 and 11 have in common, even 
though the locusts are of different colours. Finally a comment on a relationship 
between the phases of one composition: artistically the two parts of 9 are too similar, 
but this is meant as a didactic piece, showing the logical (and technical) closeness of 
the two themes. The two set lines in 12 are normal serieshelpmates. Best wishes to all. 
 
   1.  to JMR *  19/7/1937     2.                                     3. 
 cuuuuuuuuCcuuuuuuuuCcuuuuuuuuC 
 {wdwdwdkd}{wdwdwdwd}{wdwdwHwd} 
 {dwdwdw0w}{dwdwdwdw}{dwdwdwdw} 
 {wdwdpdpd}{Kdwdwdwd}{wdw0R0wd} 
 {dwdwdrdw}{dwdwdpdR}{dwdkdwdp} 
 {wdwdwdwd}{wdRdqiwd}{Bgwdwdw1} 
 {dp0wdbdw}{dwdwdwdb}{dwdpdwdw} 
 {wdpdrdnd}{wdwdw)pd}{wdwHw4p0} 
 {dBdwdKdw}{dwdwdwdw}{dwdwIwGw} 
 vllllllllVvllllllllVvllllllllV 

                   h#6                     h#2        3 solutions        h#2         3 solutions 
 
      4.                                     5.                                     6. 
 cuuuuuuuuCcuuuuuuuuCcuuuuuuuuC 
 {wdwdwdwd}{bdw4wdwd}{wdwdwdwd} 
 {dNdwdwdK}{dB0R0wdw}{dwdwdwdw} 
 {wdpdwdwd}{KdwdPdwd}{wdwdwdwd} 
 {dpdwdw)w}{hwdwiwdw}{dw0wdwdw} 
 {r1wdk4R$}{r$wdwgwd}{BdPdw0wd} 
 {dw0wHw0w}{dwdp0wdw}{dwdwdPdw} 
 {wdwGpdwd}{wdwdwdwd}{Kdwhw)wH} 
 {dwdwdwdn}{dwdwdwdw}{dwiwdwdw} 
 vllllllllVvllllllllVvllllllllV 

      h#2   b) b7=>B              h#2½     3 solutions         h#3        2 solutions  
               c) & Bb7>a6  

        7.                                     8.                                     9. 
  cuuuuuuuuCcuuuuuuuuCcuuuuuuuuC 
  {wdwdwdw4}{rdwdkdwh}{wdwdwdwd} 
  {dwdwdwdw}{dw0bdwdP}{dwdwdwdw} 
  {wdwdwdwd}{wgpdwdwd}{wdwdkdwd} 
  {dp0kdb)p}{0wdn0wdw}{dwdwdr0w} 
  {wdw0w4N1}{Kdwdwdwd}{wdw0w0pd} 
  {dwdwdpdw}{dwdwdpdw}{dpdwGq0w} 
  {wdwdwdw$}{wdwdwdwd}{p)wdwhwd} 
  {dwdwdwdK}{dwdwdwdw}{IwHwdw4w} 
  vllllllllVvllllllllVvllllllllV 
        h#3        b) pd4>d3        h#4         2 solutions       h#4½     b) Nc1>d1 
 
       10.                                   11.                                   12. 
  cuuuuuuuuCcuuuuuuuuCcuuuuuuuuC 
  {wdwdwdwd}{wd<dwdBd}{wdKdwdwd} 
  {dwd<dw=w}{dqßwdwd<}{dwdwdwdw} 
  {wdwáwdwd}{wdÞdwdwd}{w1wdwdwd} 
  {dwdwdP)w}{dwdwdwdß}{dwdwdwdw} 
  {wdàdwd<d}{wdP0p0wd}{pgwdwdwd} 
  {dwdw0k0w}{dwiwdwdK}{dpirdwdw} 
  {wIPdp0wd}{wdpgwdwd}{pHwdpdwd} 
  {d<dwdwdw}{dwdwdwdw}{dw4wHbdw} 
  vllllllllVvllllllllVvllllllllV 
        h#2½      2 solutions        h#2½     2 solutions         White moves, then  
            Locusts  à &          Grasshoppers, Locusts Þ   serieshelpmate in 4** 
            Grasshoppers                 & Equihopper ß  

 
SOLUTIONS:   
1 1.Rd2 Bxc2 2.Rd8 Kf2 3.Rh5 Kxf3 4.Rh8 Kg4 5.Kh7 Kg5 6.Rg8 Bxg6# Sorry, John, the 
planned h#70 was impossible to get sound. Many Happy Returns anyway!      2 1.Kf3 Rh4 2.Qe2 
Rhf4#, 1.Kg4 Rxf5 2.Qf4 Rcxf4# & 1.Ke5 Rh6 2.Qd5 f4#                  3 1.Qc4 Rxf6 2.Rf5 Rxf5#, 
1.Qh3 Sg6 2.Rf4 Sxf4# & 1.Qg5 Bd1 2.Rf3 Bxf3#             4 a) 1.Ke5 Bxc3 2.Rd4 Re4# b) 1.Kf3 
Bxc6 2.Re4 Rf4# c) 1.Kd3 Bxb5 2.Rc4 Rd4#           5 1...Rxf4 2.Re4 Rxc7 3.Kd4 Rxe4#, 1...Bh1 
2.Bg2 Rb5 3.Ke4 Bxg2# & 1...Rxd3 2.Rd5 Re4 3.Kd6 Rxd5#              6 1.Sxc4 Sf1 (Sg4?) 2.Sd2 
Sg3 3.c4 Se2# & 1.Sxf3 Sg4 (Sf1?) 2.Sd2 Se5 3.f3 Sd3#               7 a) 1.Qg3 (Qxg5?) Rc2 2.Bd3 
Rxc5 3.Ke4 Re5# b) 1.Qxg5 (Qg3?) Rd2 2.Rb4  Rxd3 3.Kc4 Se5# Black battery building is not 
easy to combine with mates on the same square.             8 1.Ba7 Kxa5 2.0-0-0 Ka6 3.Rg8 hxg8Q 
4.Be8 Qxe8# & 1.Sg6 h8Q 2.Sf8 Qxe5 3.Se7 Qxa5 4.0-0-0 Qa8#             9 a) 1...Bxf4 2.Se4 Be3 
3.Ke5 Bxg1 4.Kf4 Be3 5.dxe3 Sd3# Double switchback and sacrifice. b) 1...Bxd4 2.Se4 Bxg1 
3.Ke5 Be3 4.fxe3 Sf2 5.Kf4 Sd3# Circuit e3-d4-g1-e3 and sacrifice.           10 1…Ge6 2.Lxe6-f7 
Gdg4 (Ggg4?) 3.Lxf5-f4 Gb3# (Gd3?) & 1…Gg6 2.Lxg6-h6 Ggg4 (Gdg4?) 3.Lh6xf4 Gd3# 
(Gb3?) Changing shifts on g4, and double dual avoidance.       11 1…Gd3 2.Qxc7 (Qxc6?) Lxe4-
f3 3.Qc6 Lxc6-b7# & 1…Ed3 2.Qxc6 (Qxc7?) Lxf3-g3 3.Qc7 Lxc7-b8# Dual avoidance to 
preserve hurdles. The first moves shield the BK.           12 Set: 1.Rb1 2.Kxb2 3.Ka1 4.b2 Sc2# & 
1.Rd1 2.Kd2 3.Kxe1 4.Bd2 Sxd3# (Zilahi).  Solution: Sc2 then 1.bxc2 2.Kb3 3.Ka3 4.Rb3 Sc4# 


